Sky v the Lt Shawt

Moaterial :

1 ball of Zouber Flower Schoppel Wolle,

needles 3,5mamn.

Cisors, row counter, tapestry weedle , blocking kit ov pins.

Abbreviations:

k : kit

K2tog : knit 2 together.
p: purl
SKP : slip Hhe first stitch knitwise, knit Hhe wext stitch and [
poss ower Hhe ip stitci. 22
%WWW%WKW kit 2 WWWWMWWW

Yo : Yorm Ower

ml : make one stifth : knit Hhe stitch once thwough the front strand and once through
Hre back stromd, gouwmmﬁstthw

st st

R : row

Pounts :

T : side braid, see this vidéo

Garter stitel @ kndt envery stitches of every rows.

|-covo: take one sttt at tie end of Hire side braid row and then put tie last +wo
stitches of the right needle on tie left needle. Kinit these 3 sts L, do not twrn Hie work
mmmmmmwﬁm knit them again and put them back on tie
left needle. Repeat Hhis process a tofal of 5 Himes, and after Hive SHr repeat, put the 3
stutches back on the left needle and start knitting the leaf. You can also _Ihove a Look
on tHhis vidiéo.

Lace leaf:

R 1 ( right side row) : m1, k1, m1. (5 s1)

R 2 ( wrong side row), and all the wrong sde rows including 16, purl every stifches.
R 3: k2, Yo, ki, Yo, k2.(7k)

R 5: k3, Yo, ki, Yo, k3. (asts)

R 7 : k4, Yo, ki, Yo, k4. (11 st5)

R 9 : SKP, k7, K2tog.(9 st3)

R 11 : SKP, k5, K2tog.(7sts)

R 13 : SKP, k3, K2tog.(5 )


https://youtu.be/UewflPo_LtM
https://lesaiguillesdecamille.com/zauber-flower-c-5_25_118.html
https://youtu.be/O6wH6njEHvk
https://youtu.be/O6wH6njEHvk
https://youtu.be/ZRNkqPTrJ3U

R 15 : SKP, k1, K2t0g.(3 o)
R 17 : SK2P.

Then , cut Hhe Hhwead to 10 e, pass (E in Hie last stitch to stop it and take back the
kM{-ﬁmga/smMM

If wecessary , Look at tie ddagrom ov see His vidio.

Diagram of the lace leaf, Shawl Sky is the limit
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Recommendatfions:

Bring un yowr thweads as your wovk progresses, (E will be muche less tediouws Hhan
doing it i full at e end.

The blocking s necessary to gue s full measure to Hhis wovk: provide yow piuns or a
blotking kit, gwwe the shawl a form of right triamgle. To block leaves and -cords: put
a pin at He base of the -cord, then owe at the top of Hie leaf, and two at Hie widest
sides of Hhe leaf.

For tie blocking of the edge, withv a huge number of leaves, | adaise you fo wor,ewLm
two steps: you furst block the leaves witiv a (~cord of 2 rows, and then after Hhey took
well the form wanted, you block the leaves witiv L-covos of 7 rows.

[H[N"19]


https://youtu.be/cji7pJomGFw
https://youtu.be/cji7pJomGFw

Work:

AW knitting s n garter stifciv, except for side braios and leanes.

Cost on 1 st, kit a row and knit He wrong sde row.

Then , on the right side row ml, wiich glnes two stutches, make He wrong sde row
by knitting these two stitches.

Knit a right side row and a wrong side row.

Then repeat the following pattern:

Ei/iwl(rtglwtymro-w): Knit all sts anol make ml un Hie last stitche, adding a stutch to
work.

Rows 2, 3 and 4: Knait all sts.
Repeat Hhis pattern of 4 rows wntid you havne 15 stifches on your needle.
On the right side row, make a side braid, followed by an (-covd and a leaf.

To make wrong side row (you will have 13 sfifches on your needde, since 2 uere used
n the [-codl), take the yarn , and make a wrong side row as wswal by knitting youwr
stitches and repeat the pattern of 4 basic ronks:

Row 1 (place): Knit all stitches un place and make ml in the last stitch, adding a
stitelv fo the plece.

Rows 2, 3 and 4: Knit all sts.

Repeat Hhis pattern of 4 rows wntid you hane 30 stiufches on your needle.

On the right side row, make a side braid, followed by an (-covo and a leaf

Knit wrong side row (Yo will have 28 stitches on your needle, since 2 uere used in
the [-codl), and repeat the pattern of 4 basic romks:

Row 1 (place): Knit all stitches un place and make ml un the last stitehn, adding a
stufche o the plece.

Rows 2, 3 and 4. Knit all sts.
Repeat Hhiis pattern of 4 rows until you hawve 45 stifehes on your needle.
On the right side row, make a side braid, followed by an (-covd and a leaf.

Kinit wrong sde row (you will hawne 43 sfifches on your needle, since 2 pere used in
the [-cod), and repeat the pattern of 4 basic romks:

Row 1 (place): Knit all stitches un place anod make ml un the last stitchn, adding a
stitche to e piece.

Rows 2, 3 and 4: Knit all sts.
Repeat this pattern of 4 rows wntid you hawne 60 stitches on youwr needle.
On the right side row, make a side braid, followed by an (-covd and a leaf.

Knit wrong side row (you will have 58 stifches on your needle, since 2 uere used in
the [-cod), and repeat the pattern of 4 basic ronks:

Row 1 (place): Knit all stifches un place and make ml un the last stitehn, adding a
stufche o the plece.

Rows 2, 3 and 4: Knit all s15.
Repeat Hhis pattern of 4 rows until you hawve 75 stifches on your needle.



On the right side row, make a side braid, followed by an i-covd and a leaf.

Knit wrong stde row (you widll hawne 73 stifches on your needle, since 2 pere used un
the [-cod), and repeat the pattern of 4 basic romks:

Row 1 (place): Knit all stifches un place and make ml un the last stitehh, adding a
stutelv fo the plece.

Rows 2, 3 and 4: Knit all sts.
Repeat Hhis pattern of 4 rows until you hawne 90 stifches on your needle.
On the right side row, make a side braid, followed by an (-covd and a leaf.

Knit wrong side row (you will have 88 stitches on your needle, since 2 pere used n
the [-cod), and repeat tie pattern of 4 basic romks:

Row 1 (place): Knit all stitches in place and make m1 n Hhe last stifeh, adding a
stutehy to e plece.

Rows 2, 3 and 4: Knit all sts.
Repeat Hhis pattern of 4 rows until you hawe 105 stitches on your needle.

Edge :

Repeat 5 tumes tHese two rows :

right sude row : side brado

wrong side row : knit all sts.

Then knit the leaves on the right side row:

On the first 3 stitches of row, make an -covd of 2 rows then make the leaf, then take
the next 3 stitches and make an L-covd of 7 rows and make the leaf.

Repeat this alternation of leaes (witie L—coval of 2 o 7 rows) wntil the end of the

row.

Pattern Camille Delahaie- les aiguilles de camille.com
Any commercial use of this pattern and its achievements are prohibited,

unless prior written consent of the author.



